www.kem-kueppers.com

info@kem-kueppers.com

- BREMHRRINEFFE DIN EN ISO 9001

AR ER

KUppers Elekiromechanik GmbH

ZHM...KL &%l

T i Tk B 7 BY 18 28 3
AT idiEEIEE R

i rPP

it
i

i R

EI



WWW.OCTSOURCES.COM

ZHM KL - 5%

Iz S

ZHM KL ARSI e P T s v A R AR R S e A, il
Wi o IEFPRLE TR DT S SRR, R ZHM KL IS
TR A A T e A

ZHM KL ARSI A 2R RS Ay iy A g FE A i
WM. IRAEAIRE RS, MR TR SR skah &, F L nRIE
S B RS DA R R R S AR o AT T A5 22 7 F 4T3k P i
PR FF TR (A F AT e

[REEFNIZIT

WA RABEUR T, RSSO ROT A ENEE
WA P BAR/NEIME S I 5 o A BOBEHE AR 5 FE A B AN b e
Z TAVTRE ol ) 2 P i 2 A B 1T S T2

WA B RSN IR sl , Fesh i BB e T, |
R S e B A A 2

HRERSE
HBLRSE
kgl

RGBT

My 7 Fsf ) %

e T

RARSH

= N EEE K& RKREN BEE =

== I/min BkiFHD bar Hz" kg
ZHM 01/3 KL* 0,002 E) 0,5 40.000 8ill5 1.3 E) 330 2,2
ZHM 01/2 KL* 0,02 EX 3 14.000 630 4.6 EX 700 1,3
ZHM 02 KL* 0,1 E) 7 4.200 630 7 E) 490 2,2
ZHM 03 KL* 0,5 ER 25 1.740 630 14 EX 730 29
ZHM 04 KL* 0,5 ER 70 475 630 4 ER 560 8,5
ZHM 05 KL* 5 EX 150 134 400 1 EX 340 23
ZHM 06/1 KL* 5 ER) 250 106 400 8.8 ER 450 27
ZHM 06 KR * 20 EX 500 53 400 18 EX 450 35
ZHM 07 KR * 50 ER) 1.000 24 400 20 ER) 400 66,5

1) N FlE R AV TERT . TR B TE (i S S w0 e
xBTS i)

32


WWW.OCTSOURCES.COM

ZHM KL - 5%

BIESH
ok SRR ATE 1%0 (2 30 mm?/s; ZLIEAIE TESF T 0.1% )
V=Ko +0.1%
Lo She: 4 DIN 1.4305 (SS303), 1.4404 (SS316L)
Pk 74 DIN 1.4122 (SS303), 1.4501 (UNS 32760)
LIV VRERBR: #AL4S (ZHM 01/2-04) / #4540 (ZHM 05)
[l K: $550 (ZHM 06-07)
B FKM, PTFE
A L -20 °C & +180°C (P /i [ 45 10)
Rt TR (4%57)
FRETi bR
IR vie* | wr | viex | Fol lvtct | viB* | TD* | VHE* | VHD* | FOP*
LAY (uRriE) E E E E E E D E D E/F
< +70°C v v Y
g 20 v / v
< +150°C J v v
<+350°C v
EXPiki v v v v v v v v
pIES R X v v v v v v v v
XURATE A v v
I 4 - 20 mA J J
XA v v
W% WoR J v
EE7itd v v
HJRfE R 12 - 24 V J v Y v V/ v J v
HL it A v v
HENED v V/

1) LR B Sk / D: XISk 1 Fr BTG E A
* T LA R RO R,

33


WWW.OCTSOURCES.COM

ZHM KL - 5%

R~FE (mm) - ZHM 01/2 £ 05

2x OB

/6*

©

———OT— |— — —]
|
|
o
(\-{"\
|
|
— ot Q) ——

BS A B Cc D E G H L P T2

G1/4*
M12x1.5
ZHM 01/2 KL 76 M6 x 10 12 44 14 14NPT 50 72 E/DIF 18
G1/8"

G1/4*
ZHM 01/3 KL 84,4 M6 x 10 12 44 14 G1/8" 55 80,5 E/D/F 24,4
1/4“NPT

G1/4*
ZHM 02 KL 84,4 M6 x 10 12 44 14 1/4“NPT 55 80,5 E/D/F 23,5

G1/4*
M12x1.5
G3/8"
1/4“NPT

1/2°NPT
ZHM 04 KL 125 M10 x 20 17 60 14 M20x1.5 96 121 E/D/F 30,5
G1/2"

M33x2
G1"

ZHM 03 KL 84,4 M6 x 10 12 44 14 67 80,5 E/D/F 23,5

ZHM 05 KL 175,5 M12 x 20 22,5 100 18 133 170 E/D/F 43,5

1) S WAL SRR (SR3T0).
2) R ST R (H) I R A S LR S TEARL(T).

34


WWW.OCTSOURCES.COM

ZHM KL - 5%

R~FE (mm) - ZHM 06/1 £ 07

2x @ B
2x®B
. SN
L [eo]00 f [ ©© %ﬁ‘
I A\ /s |
D1 G + ; A D1 G ;
: X Y @ f N, v
OO | Ol
! [CYRS} | oINS
2 \<>
L T
D2
P
min L
i
T |
H
ZHM06-06/1 ZHMO7
A A B D1 D2 G H L P T2
ZHM 06/1 KL 188,5 M12 x 25 142 - SAE 1 1/4¢ 138 82 B/E/D/S 48,5
ZHM 06 KR 1885 M2 x 25 142 - SQE ] ]72‘: 180 82 E/D/H/S 48
ZHM 07 KR 233 M16 x 30 150 80 SAE 1 1/2“ 220 100 E/S/H 63
1) 2
2) il

35


WWW.OCTSOURCES.COM

ZHM KL - 5%

ZHM KLAYIT 5155

ZHM** - xx -x -Xx

O
T= teflon
V = viton

TERkERTL

A=AW(UNF)

D=ALfL

E=HfL

S=HuL

"t

KL=R BRI . T IBa0ET:, TRPRH&, SS303
KR=72 4l 2

W ESEE (I/min)
01/3 KL= 0.002...0.5
01/2 KL= 0.02...3
02KL=0.1...7

03 KL=0.5...25

04 KL=0.5...70

05 KL =5...150

06/1 KL = 5...250
06 KR =20...500

07 KR =50...1000

36


WWW.OCTSOURCES.COM

